Argonne Scan anl0413Ju on 20020503 with CF ID = 14

Module Average VoduleHisio L200 per strip 12005
Nent = 831 Nent = 28
0'2: Mean x = 186 3 B Mean =0.05058
o18E- Mean y = 0.05251 = | RMS = 0.006764
B RMS x = 76.11 g 10
016F [RMS v _=0.00818: C
0.14F 8
0.12F C
01f 5
0.08] L
a-
0.06 r
0.04 2'_
00z2| L-200=0.0508 Ocp r
(e ——— P U S R S o s N L.
0 50 100 150 200 250 300 350 400 0 0.02 0.04 0.06 0.08 0.1 ngolz
Fiber Average Fibertiisto [ L200 Fiber per strip | 2007s
Nent = 831 Nent = 28
0'2: Mean x = 234.1 g 12 Mean =0.05039
o 18-— Mean y = 0.05251 = L RMS =0.007182
e = RMS x = 77.44 g -
016 RMSy = 000818 10
0.14F r
E 8
0.12 o
0.1 6—
0.08F -
0.06F -
0.04F f
002| L_200F=00543 C
e —— P R I I B P M R B B Ly
0 50 100 150 200 250 300 350 400 0 0.02 0.04 0.06 0.08 0.1 L2000Ii1
20 pc Deviants D20pc 30 pc Deviants D30pc
Nent =2 Nent=1
12} 2-_ _ Mean = 16 12} 1 _ Mean = 16
£ o RMS = -0 £ RMS = -0
£, qF € [
oy 1.8:— iy :
1.6 0.8
1.4F
12F 0.6
e
0.8F 0.4
0.6
0.4F 0.2~
0.2F L
N - I E A | N N I B A T RN I | N R I B
0 5 10 15 20 25 0 5 10 15 20 25 .
Strip ID Strip ID

Mon Jul 29 11.:28:54 2002

L200 vs Strip

L200Strip
Nent = 28
80'12 Mean x = 14.5
‘j Mean y = 0.05058
RMS x = 8.078
0.1 RMS v_=0.006764
g A
0.08

ol v
0 5 10 15 20 25 .
Strip ID
[ L200 Fiber vs Strip } L200FStrip
Nent = 28
%0.12_ Mean x = 14.5
Q - Mean y = 0.05039
- - RMS x = 8.078
0.1~ LRMSy = 0.00718
0.08[—
0.06—
rm
0.04—
0.02—
) I I PR S EFEEI R
0 5 10 15 20 25
Strip ID
$0.12[—
g L
©
[a)
0.11—
0.1 H
0.091—
0.08—
0.07—
0.06—
P I I I SR RN R R
0 50 100 150 200 250

00 350
Distance (cm)



Argonne Scan anl0413Ju on 20020503 with CF ID = 14

.

Integral pe
o
o [
= N

o
o
]

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III

a
o

i

100

150

200

250

300

350

400
Distance (cm)

Integral pe
o
o [
= N

o
o
]

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III
[

50

i

100

150

200

250

300

350

400
Distance (cm)

Integral pe
o
o N
- N

o
o
©

o
o
=

o
o
o

/

o

o
o
° 5
III|III|III|III|III|III|III

50
Mon Jul 29 11:28:51 2002

100

150

200

250

300

350

400
Distance (cm)

Integral pe

Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III

o
© P
[ )

o
o
o

I I
o =}
N =

o

o
o
o (&}
III|III|III|III|III|III|III

o o o o o
o =} o o o [N
N B (o)) (s3] - N

o

o
III|III|III|III|III|III|III

i

50

i

100

150

200

250

300 400
Distance (cm)

/'

3]
o

i

100

150

200

250

300 350 400
Distance (cm)

50

100

150

200

250

300 350 400
Distance (cm)




Integral pe

Integral pe

Integral pe

o
© =
[ )

o
o
]

o o
o o
o =

o

o
o
° >
III|III|III|III|III|III|III

o
© N
[ N

o
o
]

o o
o o
o =

o

o
o
° >
III|III|III|III|III|III|III
1

o o o o o
o o o o o i
o s & & i ~

o

Argonne Scan anl0413Ju on 20020503 with CF ID = 14

i

/

a
o

100 150 200 250 300

i

350

400
Distance (cm)

'-\

a
o

100 150 200 250 300

j

350

400
Distance (cm)

o
III|III|III|III|III|III|III

50 100 150 200 250 300

350

400
Distance (cm)

Integral pe Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

i

3]
o

100

150

200

250 300 400
Distance (cm)

o
3]
o

100

150

200

250 300 350 400
Distance (cm)

'l

o
3]
o

100

150

200

250 300 350 400
Distance (cm)




Integral pe

Integral pe

Integral pe

Argonne Scan anl0413Ju on 20020503 with CF ID = 14

13 ' 14 '
= ® =
- a -
- = -
0.12— > 0.12—
- g -
- E -
0.1 — 0.1 —
0.08[— 0.08[—
0.06[— 0.06 [— S E——
0047 0.04—
0.02 — 0.02 —
ol 1 L 1 1 1 1 L 1 L 1 L 1 o 1 L 1 L 1 L 1 L 1 1 1 L 1
0 50 100 150 200 250 300 350 400 0 50 100 150 200 250 300 5 400
Distance (cm) Distance (cm)
15 i 16 '
= ® =
— (=% —
- = -
0.12— > 0.12—
- 8 -
C £ C
0.1 — 0.1 —
0.08 — 0.08 —
0.06 [ — ~ 0.06
0.04f— 004
0.02 — 0.02 — -
0 C L 1 L 1 1 1 1 L 1 L 1 L 1 0 C L 1 L 1 L 1 L 1 L 1 1 1 L 1
0 50 100 150 200 250 300 350 400 0 50 100 150 200 250 300 350 400
Distance (cm) Distance (cm)
17 | [ 18 |
= ° =
— (=X —
- = -
0.12— > 0.12—
- 8 -
C £ C
0.1 — 0.1 —
0.08 — 0.08 —
0.06 — 0.06 —
- i~ - ~—
0.04— 0.04— S
0.02 — 0.02 —
0 C ' | ' | | | | ' | ' | ' 1 0 — ' | ' | ' | ' | ' | | | ' 1
0 50 100 150 200 250 300 350 0 50 100 150 200 250 300 350

400
Distance (cm)

400
Distance (cm)




Integral pe

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

o

Argonne Scan anl0413Ju on 20020503 with CF ID = 14

[EEY

©

Integral pe

o
a
o

N

[

Integral pe

o
a
o

N

w

Integral pe

a
o

0.12

0.1

0.08

0.06

0.04

0.02

o

0.12

0.1

0.08

0.06

0.04

0.02

o

0.12

0.1

0.08

0.06

0.04

0.02

N

o

3]
o

N

N

3]
o

N

S

o
3]
o



Integral pe

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

o
[
N

o
[

o
o
©

o
o
>

o
o
=

o
o
o

o

Argonne Scan anl0413Ju on 20020503 with CF ID = 14

o
a
o

100 150

200

250

300

350

400
Distance (cm)

100 150

o
a
o

200

250

300

350

400
Distance (cm)

o
III|III|III|III|III|III|III

50 100 150

Mon Jul 29 11:28:51 2002

200

250

300

350

400
Distance (cm)

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

o
3]
o

100 150

200

250

300 400
Distance (cm)

0.12

0.1

0.08

0.06

0.04

0.02

o
3]
o

300 350 400
Distance (cm)

ModuleHisto_pfx
Nent = 536

Mean = 187
RMS = 76.11

0.04—

0.03—

0.02[—

0.01—

L_200 = 0.051

bl L 1

I1-1.

100 150

200

250

300 350 400



Argonne LI Scan for anl0413Ju

" I ) :
5 o — ) 2160F
5 F c F
L S C
w - ©140—
' 51— g 140 C
s Q E
g - $120 —
8 4 < ooF F1 Gain |
3 L B 100
= _ C
3 80—
- 60—
21— C
- 40f
1— C
C 20—
0 NN NN NN NN NN NN NN NN 1 0 NN NN AN NN ANNNNANNNANNNENANAN NN N
0 5 10 15 20 25 30 0 5 10 15 20 25 30
Channel Number Channel Number
%) — ra :
[ - a -
g 6— 3 160—
& [ S E
S s 140
5] C 8 -
3 4 s FJ F2 Gain |
3 - © 100
) C & O
= - C
3 80—
- 60—
2= C
- a0F-
1 C
C 20—
0 C 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I o C 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 5 10 15 20 25 30 0 5 10 15 20 25 30
Channel Number Channel Number

Mon Jul 29 11:27:44 2002



